8F25 AR
FHTEE SHTE10A AFARERSINE
(D FERICKDITRR T (2) AFTRIEEIREH(N) DFAHH
Oom'R SH6E 45204 ~ o RS
1%R SM5E 48284 ~ SH6E 4A1HE $F [REQARTARELIEER
2R HH4F 428 % ~ [HSE AF1HE sx |[EDAFARRGEERAARE
3mE SM3E 45284 ~ SH4E 4A1HE (FEROEBRFEES EICL TSN, )
4R SH2FE 452845 ~ SH3E 4B8184E FERICARTEEN ALY
52 ER3IE 45284 ~ SH2E 4B184E
(Bt X] (N RERXF: 50 IE) e -
DAEJI‘*.
i Tiif 2R | "wn | ome | 1R ?F'}; Esgfi L)'%'. smie e w =
BR (A ] &® = | 70 54 1 - 1 1 - - 3
Wi+ ¥ LY & &FEBE 6 50 3 3 - 5 - - 10
*iH N I3 & = 50 54 - 1 - 1 1 - 3
wiI R E 2 &£ 3D 90 102 - - - 3 - - 3 REFTHEE
TRNFEMBRECLELE 90 89 3 3 1 = 1 5 13 |REF#HEE
F 2 5 B B 60 59 3 1 - - - 1 5
# o T B B 100 89 1 - 2 3
#E | £ Y K B B 99 94 2 1 - - - - 3
# 2 F AL R B A B 10 54 3 - - 3
# D F hoR K BF E|l 12 98 - - - 1 - - 1
o Z B =R B 5] 90 95 2 - - - 1 - 3
o0 F OB OF 90 93 2 - 2 1 - - 5
moM & L R B B 90 96 1 1 2 - 1 - 5
 F o B OB 120 119 1 1 1 - - - 3
sxm EHAERMAKEMRF Y AILE] 50 48 1 - 3 - 5 4 13
# D HERRKRAEEH WD 25 - - - - - - 0
AR EE Mm@ E LR 90 78 - - 2 - - - 2 REFHEE
ZFE N ERFE 15 13 1 2 2 5
Hh N = o+ & F EH| 100 115 6 4 1 1 - 5 17
R IL 5 W Y ¥ 3 & F E 130 123 1 5 - = 1 - 7
v & L & 2 8 B 60 61 - - - = - = 0
75 x #7® B id 110 - - - - - - 0
#h Bl R B Fr[ 110 120 2 - - - - - 2
& D & B M LR F EN 12 127 1 - 1 - - - 2
H*}}’J%IEJ’J*REQ 30 27 2 - - 1 1 - 3
)] #7® F| 130 101 - - - - 11 13 24 |REEHEE
5z I E =2 £ 3 B 50 46 2 - - - - - 2 REFHEE
ThAECED » F 116 108 1 - 1 1 5 - 8 |IRERETHEE
BOEOER ZELRE| 57 70 - - - - - - 0 REFHEE
L 5 W Y g & 130 130 - - - = - = 0
B k3 ) i3 B 80 80 - - - - = - 0 REFHEE
KE DDhAREZELEAPEL A 88 81 - - 1 1 - 1 9 REFTHEE
A UVvDODLBREEBR 4 36 1 = = = = = 1 REF#EE
T 0TEREILED 105 98 - - - - = - 0 REFTHEE
R B R B E| 12 120 - - 1 - 1 1 3
# D EHEHBHKREE 0 105 - - - - - - 0
AOEHEBE2KF B 110 121 8 - - - - - 8
i B b4 =R 180 133 1 1 - - - - 2 |REPHEE
2 R’ b 7’ E| 80 60 - - 3 3 5 9 20 |wmuirsg - gamm
H E M % =R 110 88 - - - - - - 0 REFTHEE
= 1 » v HF FH EH 80 84 3 - 2 = - - 5
NE U & L R & 50 53 - - - = - = 0
as] < £ b)) 7’ E| 100 18 - - - - = - 0 REFTHEE
& i) #7® B 120 121 1 - 1 - - 1 3
i~ F B S <K b5 R AF 110 98 - 1 5 - 5 7 18 |EREmia:
E2EHSICHLBREEH 80 75 - 1 5 - - 3 9 |REEHEE
EHSKLARBREEHR 18 12 - - - 0
RiE (L A (53 4] &R 220 188 1 3 1 - 8 7 20 |REFHEE




